Ch5. Homework Solution
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P173   #3

Suppose that the number of insurance claims, N, filed in a year is Poisson distributed

with E(N)=10,000 . Use the normal approximation to the Poisson to approximate

P(N>10,200).
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6.Using moment-generating functions, show that α
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 the gamma distribution with parameters α and λ, properly standardized, tends to the standard normal distribution.
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14.Answer Problem 13 under the assumption that the drunkard has some idea of where he wants to go so that he steps north with probability 2/3 and south with probability 1/3.
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22.Using th central limit theorem to find △ such that P(∣
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27.Prove that if 
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